
Division d’Exposants (H)

Simplifiez les expressions suivantes:

1. 30

31

2. 83

84

3. 8−7

82

4. (−4)−9

(−4)−9

5. 3−4

39

6. 4−9

47

7. 6−3

61

8. (−7)7

(−7)7

9. 40

40

10. 96

97
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Division d’Exposants (H) Réponses

Simplifiez les expressions suivantes:

1. 30

31

= 3−1 =
1

3

2. 83

84

= 8−1 =
1

8

3. 8−7

82

= 8−9 =
1

89

4. (−4)−9

(−4)−9

= (−4)0 = 1

5. 3−4

39

= 3−13 =
1

313

6. 4−9

47

= 4−16 =
1

416

7. 6−3

61

= 6−4 =
1

64

8. (−7)7

(−7)7

= (−7)0 = 1

9. 40

40

= 40 = 1

10. 96

97

= 9−1 =
1

9
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